The Assignment Question

Write a paper that responds to the following questions:

1. Is Foucault right when he argues that in modern societies, the “failure” of the prison system and various uses of “panopticism” are connected and that they both serve certain purposes? Does he support his claim sufficiently well with arguments and evidence? 

2. Is this a reasonable claim? Does his approach allow us to perceive and make sense of reality from a different perspective? If so, in what ways? Explain.

Your paper must contain responses to the following questions:

(a) According to Foucault, what is the use of not eliminating offences in society? What end or ends are served by the "failure" of the prison? What is meant by the "failure" of the prison?

(b) What is "panopticism"? How is it related to the maintenance of delinquency that results from the so-called "failure" of the prison? In what ways does maintenance of delinquency support and facilitate panopticism in modern societies?

